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Answers to Chapter 5 Practice Test

1)  Vertical Asym.: x
Holes: None

Horz. Asym.: y



2)  Vertical Asym.: x
Holes: x
Horz. Asym.: y

3)  Vertical Asym.: x
Holes: None
Horz. Asym.: y

4)  Vertical Asym.: x
Holes: None
Horz. Asym.: y

5)  Vertical Asym.: x
Holes: None
Horz. Asym.: y

6)  Vertical Asym.: x
Holes: None
Horz. Asym.: y
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13)  Hole at (, )

St, Form: f (x) 
x
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14)  Hole: None

St Form: g(x) 
x



x

y

       



















©\ c2D0K2h1Z PKAuWtBa^ zSzoQfttxwMaMrleD WLgLUCx.k v XAWlKlY crTiSglhVtgsj ArYefsCehrfvLeqdP.A p gMhaadler qwvivtqhO jIin`fyiPneiStOen PASlYgjeIbirza_ l2R.

Worksheet by Kuta Software LLC-5-

15) Hole: (, 

)

St Form: f (x) 
x
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16) Hole: none

St Form: h(x) 
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Write the equation for each graph in standard form y = 
a
x − h

 + k. Then describe the vertical

asymptote and end behvior using limit notation. 
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y = −
4

x − 2
 − 3
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y = 
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21)  

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8

y = 
3

x + 2
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y = −
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x + 3
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